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Ch- Division
BASED ON N.CERT

Q. Use shortcut method and write the quotient and the
remainder.

Division fact. Quotient (Q) Remainder (R)

a.1585+10 = 158 o
b.1012+100 =
C.5115+1000 =
d. 3456 +100=




* Relationships between -

Q. Dividend = ( Divisor X Quotient + Remainder)

a. Divisor = 8, Quotient = 3,

Remainder = 2

Dividend= 8 X3+ 2 =26

b. Divisor =27, Quotient =107, Remainder =15
Dividend =

C. Divisor = 35, Quotient = 823, Remainder = 2
Dividend =

d. Divisor =9, Quotient =485, Remainder =2
Dividend =

e. Divisor =22, Quotient = 156, Remainder = 6
Dividend =

f. Divisor = 51, Quotient = 85, Remainder = 42
Dividend =

g. Divisor =27, Quotient =236, Remainder = 21
Dividend =

h. Divisor =18, Quotient =45, Remainder =9
Dividend =
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